WACTIVE MATHS Year 3/4

P

MATHS HUNT A

A Maths based Scavenger Hunt. “Clues” (Maths questions) are hidden around,the hbm_emqlr ;
garden. R b?
*To begin the game a secret word must be chosen. The number ofyletters iﬁjfhe word wll_l/;/
dictate how many clues will need to be hidden. A '

For eg. the word MATHEMATICS would require 11 clues to be hidden:
* Each clue answer is allocated a letter from your secret word and correctly answered clues
are rewarded with the corresponding letter.

*The player has to find all the clues and complete as many maths questions as possible.
Once all questions have been attempted the player must try to arrange the letters they have
gained from their correct answers to figure out the secret word.

* Once a clue is found it must be brought to a central area to be completed.

*Only 1 clue at a time.

* Questions to be attempted mentally first, if unsuccessful then working out on pen and
paper and finally, if needed, with use of a calculator.

Different ways to play:

* Change values in questions (this does mean working out new answers!)

* Play “Hot and Cold” in the areas clues are hidden. The player is hotter as they move near
the clue, colder if they move away from it.

* Player draws maps/plans of the rooms in the house/garden and these are marked with the
locations of the hidden clues.

Question Year 3/4 Answer
3 What number is one thousand more than 4582? 5582
2 What is twenty-two multiplied by six? 132
3 Write 1/4 as a decimal 0.25
4 Darrell leaves home at 7.50am to walk to school. He | 8.25am
takes 35 mins. What time does Darrell arrive at
school?
5 Lorna has £1.60. She gives a quarter of her money £1.20

to a charity collection. How much money does she

5 have left?
z ‘ 6 Jacob wants to buy four books. Each book costs £4.80

£1.20. How much will he pay?

7 Which fraction is the smallest? 1/2,1/3 or 1/6? 1/6
Q} 3 8 | Which fraction is the biggest?  1/4,1/80r1/22 | 1/2
9 Which digit in the number 726 represents the 2

number of tens?
10 A box of pencils holds 48 pencils. How many pencils 192
are in 4 boxes?

11 Alex buys a cake for 75p and a drink for 60p. He 65p
pays with a £2 coin. How much change will he get?
12 A class collect £96 for charity. It is split between 4 £24

charities. How much does each get?

* Choose from the questions in the table above to create your ‘clues’ BUT remember not to include

the ANSWERS!!I! Feel free to change the questions and make them \.f WEST LANCASHIRE
appropriate for your child! Good Luck! W/ SPORT PARTNERSHIP
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